1)Eas.y Notes 4u Online Study

UGC NET 2021 Economics

Topic:- GP_24NOV_A
Study the given table carefully and answer the questions that follow.
Number (N) of candidates (in lakhs) appearing for a University Entrance examination from four

different states (A, B, C, D)and the percenw__of_candidates clearing the same over the years are

jrovided in the table below
S

tate B
Year N
2016 1.64
2017 1.72
2018 2.02
2019 2.10
2020 1.90

e D M__ﬁ;

P(%) N P(%) N P(%)
42 2.60 46 3.3 29
41 2.45 36 3.1 32

37 2.20 33 2.9 31
43 2.50 42 2.7 34
46 2.55 30 3.0 35

1 Find out the total ber of students who have cleared the entrance exam from 2016 to 2020 in
ML

State A.

TSI TH 2016 ¥ 2020 ﬁqﬁgrqﬁwmmmmﬁgﬁﬂwmwml

1. 355460/355460 [Option ID = 4641]
7364420/364420 [Option ID = 4642]

3. 360890/360890 [Option ID = 4643]

3\3\\5&\‘“’9# R LRI
o\ RO D v Oo
-l L
4.358660/358660 [Option ID=4644] 1\ 0§ g F ’_EO\J‘- >\ et
%/ e 'L%] v S

Number (N) of candidates (in lakhs) appearing for a University Entrance examination from f
different states (A, B, C, D)and the percentage (P) of candidates clearing the same over the years are

State B

Year N P(%)

2016 231 32 1.64

2017  2.02 44 1.72

2018 1.98 39 2.02

2019 1.85 28 2.10
1.90

— 2020 @LSSJ

1. 84550/84550 [Option ID = 4645]

provided in the table below +/
A" L, 6
P(%) P(%) P(%) A 2 LSP

42 2.60 46 3.3 29
41 2.45 36 3.1 32 QJ\ \)\60
. . g

37 220 33 29 31 63O

43 250 42 2.7 34 %
+ 46 2554 30/ 3.0 4. 35 A0\ >
5 -

| Y VI T W

2 Find out the average number of students who qualified in 2020 (from all states).

2020 # JTI0T BTAT I 3T FEAT AT HIFT (Tt T=31 ) .
= ——— MR

2. 86770/86770 [Option ID = 4646] - —"\‘\/'
3,/85375/85375 [Option ID = 4647]
. 84580/84580 [Option 1D = 4648]
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Number (N) of candidates (in lakhs) appearing for a University Entrance examination from four
different states (A, B, C, D)and the percentage (P) of candidates clearing the same over the years are
provided in the table below

State A B C D /
Year N P(%) N P(%) N P(%) N P(%) %‘m%o
2016 231 32 1.64 42 260 46 3.3 29 S
oLV
2017 [2.024 44) 1725 41 2.45 - 36 31+« 32 T N\ )
2018  1.98+ 39 2.02 4, 37 2.20%4 33 29 4 31 %Opvﬁ
2019 185 28 210 43 250 42 2.7 34 AN
2020 220 33 190 46 255 30 3.0 35 " L% g0

3 Find out the difference between the total number of students who qualified in 2017 and the total

number of students who qualified in 2018 (from all states):

2017 # FeToT BT T el TEAT 3R 2018 H 30T BT T ool TEAT (T T3 A) a:a‘m@H
] \ -) e

eI 20 14\ D YO 2

1.31750/31750 [Option ID = 4649] \ O ’1/\\\’\\\“
2.31880/31880 [Option ID = 4650] AL (&
3.32220/32220 [Option ID = 4651] 204D \/ % N

j" 32340/32340 [Option ID = 4652] N\ WALD

Number (N) of candidates (in lakhs) appearing for a University Entrance examination from four
different states (A, B, C, D)and the percentage (P) of candidates clearing the same over the years are

provided in the ta w — —

State A 7 C D a:\}\vm\l

Year NY  P(%) N P%) N P%) N P(%) 7)0'1/\ \/
2016 231 32 | 164+ 42\)\n 260 46 33 29 <
2017  2.02 44 172% 41 245 36 31 32 ) w/
2018 198 39 202+ 37 220 33 29 31 \% V\}J/\
2019 185 28 210 + 43 250 42 27 34 3 -
2020 220 33 190~ 46 255 30 30 35 ~

4 In which year did the highest number of candidates clear the entrance exam from State B?

for a§ 1 s B A HR TS 5EAIeany a vder gliat 3ot —
201 CAETD T

—_—

1.2019/2019 [Option ID = 4653] ~ ——— S X

2.2020/2020 [Option ID = 4654] G Q"E’C\Eqﬁ) \\\ \&
_3:2016/2016 [Option ID = 4655] B

4.2018/2018 [Option ID = 4656] o B =
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Number (N) of candidates (in lakhs) appearing for a University Entrance examination from four
different states (A, B, C, D)and the percentage (P) of candidates clearing the same over the years are
provided in the table below

State A B C D

Year N P(%) N P(%) N P(%) N P(%) WP

2016 231 32 1.64 42 2.60 46 3.3 29 _y‘b

2017 2.02 44 172 41 245 36 3.1 32

2018 1.98 39 202 37 220 33 2.9 31

2019 1.85 28 210 43/ 2.550— 42 27 - 34 AN
\/2020 2.20 33@ 190 46 255 30 3.0 35 7—'\‘Q\“\\/’

\‘oﬁ
5 Find out the average number of non-qualified candidates in 2019 (from all states).
2019 & (T3 Tt @) IAR-IT 3eeliear’ $ir 3itaa & Ara Hifav| ¢%
1.135320/135320 [Option ID = 4657] | g *\Q’W\S‘Q\F\_’,}r 2. (Q}\Nﬂrbj‘ﬁ
\// 2. 144025/144025 [Option ID = 4658] v A ED
3.137270/137270 [Option ID = 4659] 1\, \ S R g)@ 2 AR WO wo V.
4.139870/139870 [Option ID = 4660] \

sO
13 31 - NI WSS VR o
Topic:- GP_24NOV_B

What is the name for the technique which uses images that are often more evocative than words, and
more precise and potent in triggering a wide range of associations and thinking?

3 cleheileh T ATH 4T & ST THT STAST T TG AT i 3FER AseT T Jolel 31Tk 3esierh
B &, 3R Fil 3N & & veh el @l &1 fEaR et 7 31feres @éien 3R aferdemel gich 87

1. Brainstorming/ﬂ?{\ﬁl’?hﬂm

2. Story boarding/E S fEaT

3. Synectics/
4. Mind-mapping/HeT AT 0T

_—

The satellite used for the transmission and telecast of SWAYAMPRABHA is called

TIIYHT o JHROT 33 THRUT & TIT 3TN TR T ST7eY Tl YU i gl ST e
1. EDUSAT Satellite/

2. GSAT-15 Satellite/

3. GSAT-3 Satellite/

4. SP-EDU-15 Satellite/

Given below are two statements
\géement I: Personal competencies determine how we manage ourselves
“Statement II: Social competencies determine how we handle relationships
HUA |: SATFAIT AT TR AT & T §H T ol vl T 1T il &
HYA |I: FTATTSI &THAATT eI e § for g0 Reai ot @ dermera g
In light of the above statements, choose the most appropriate answer from the options given below
1. Both Statement | and Statement Il are correct/
2. Both Statement | and Statement |l are incorrect/
3. Statement | is correct but Statement Il is incorrect/
4. Statement | is incorrect but Statement Il is correct/
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Match List | with List Il

List I List Il

Thinking Hat System Concepts and Ideas

A. White Hat I. Judgement and caution-the logical negative

B. Red Hat II. Data gathering-facts, figures, information needs and gaps
C. Black Hat Ill. Provocations, alternatives and creativity-proposals

D. Green Hat IV. Intuition and emotions

Choose the correct answer from the options given below:

T | Y I 11 & Ty gAfAT B

eukseill P
fAifheT & ATes Fletveq Us 3nsfEars \
A. g18e g |. o 31 graenett (arféhe AeRTcas) /

BYSECT |1 ST Uehd hlall (T2, 3Heh3, Il T STl 3N 3Terer)
C. sl g 1l 3aa1aT, ey 31K TWaATcHSar-9Edrg

D. =T §€ IV. 3T 3R H1g=Te

oA T aTe faehedt & & #El 3w g

1.A-lll,B-ll,C-IV,D-l

2.A-1l,B-IV,C-l,D-ll

3.A-IV,B-I,C-lll,D-ll
4.4.A-1,B-II,C-ll,D-IV

EasX Notes 4u Online Study

Which of following are in the "Six Thinking Hats System", a form of parallel thinking?
At 7 @ i "[{eT AT gea Reea &, S TAR O T TH &9 82
A. Brown Hat —

B. White Hat

C. Violet Hat

D. Red Hat

Ehi%ﬂ answer from the options given below: /TW
1. A,BandConIy/aﬁTvl'A,B&ﬂTC -
2.B,Cand D onIy/aﬁTvl' B, c3kD
3.C,DandE only/aw_cIT»l' c,D3RE

\?./B, D and E only/&deT B, D 3R E

6) An extraneous variable is also known as
6) Teh STEY T A & &F F off ST SITar &
1. Artifact/RAETOT HTET — s T C
2. Dependent variable/ﬁﬂ?ﬂ?

3. Intervener/mﬁq

4. Contiguous factor/AfeaIlgd PR$
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7) Which of the following are advantages of observation as a tool of data collection?
A. Observation takes place only in natural settings T
B. Observation methods demand the active participation of subjects in the programme
x\a?‘bservations are known for directness
~ Artificiality can be minimised in observational studies
\Eﬁ%ecording devices can be used in observational studies for accuracy
Choose the correct answer from the options given below:

7) 3T HIUE & 3YHIUT & & H 3Tellche] & [AFTTl QT H F hieT T AT 872

A. 3aclieha] Sharel UThicieh AfEaq HgIaTe

B 37delleheT AT & forw Fisher & fawat fir afor smafiery i smaegsraralar &

C. F&TUT TcT&TdT o [T STel STl &

D. 3Tacliehe] Hetll TTAAT H HIFAT T ha T ST Fehell &

E. GEIhdT & ToIT 3acliensT Gatlt 37eTTeAt H RepT 1597 3THTUT T 3YATT AT ST ThT &

oA T are faehedt & & #El 3w g

1. A, B and C only/&ddT A, B 3iX C [Option ID = 4685]

2. B, € and D only/ahddl B, C 31X D [Option ID = 4686]
\,3./(:,/2 and E only/&adl C, D 3iR E [Option ID = 4687]

4. A, B and E only/&de A, B 3iX E [Option ID = 4688]

8) The characteristics of a normal distribution curve are:
A. It reflects an asymmetrical distribution

\,Bﬁc is bell-shaped

C. It does not show standard deviations
\DsThe mean, mode and median coincide at the centre of the distribution
E-The curve is based on an infinite number of observations

Choose the correct answer from the options given below:

8) Ueh HIATY TIAT0T Tk T FIRATATT &:

T| Ig e a9 Taeror T geidr g

B. I T & TR I BT &

. Tg AT AT AL T §

D. AT, Fg T 3R AT ot 3 g o HITeh 8ieh &

E. %k 3eic H&AT 7 U&T0T o 3Rl &

A Ry T Rt 3 & 78 3R T

1.A,BandC onIy/aTclTvr A B 3Rc [Option ID = 4689]

2. B, C and D only/&dd B, c3RD [Option ID = 4690]

3.C,DandE onIy/avT:I'(_*r C,D IRE [Option ID = 4691]
\/ﬁ B,DandE onIy/aTclTvr B, D3IRE [Option ID = 4692]
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Given below are two statements

Statement |: A variable measured at the nominal level can be used in higher-level statistics if it is
converted into another form.

Statement II: The result of the conversion process is called dummy variable.

In light of the above statements, choose the correct answer from the options given below

A ey ey RRu e §

YT |: ATHATT FA I AT 31T Teh T 3T T & 3M1ehsl H 3TN fhT ST TehelT § IS 38 g8
&9 7 gRafda frar srar g |

YT |I: TATAROT FTohaT oh TROTH Sl SHI T gl ATl g |

ST sl o 3Telleh H #A1d [GU T fashed! 7 & LT 3T HT IIA Y

1. Both Statement | and Statement |l are true/
2. Both Statement | and Statement Il are false/
3. Statement | is true but Statement |l is false/
4. Statement | is false but Statement Il is true/

Match List | with List Il

List I List Il

Types of Design Characterestics

A. Solomon Four Group Design I. It is a cross-sectional design

B. Post-test only Control Group Design Il. Contains an additional set of control and experimental
groups

C. One-shot Case Study IIl. Omits the pre-tested groups altogather

D. Correlational Design IV. Observation of a single group at one point of time to

observe the change
Choose the correct answer from the options given below:

T | T T 1l & Jry gATIT A

ekl

ESIEGRCHAGIRIE: A EIry

A. BTl HeT B T 33 |. g Teh ShIE-HereleTel 3i1gaT &

B. 3ol TRI&TUT & ST, 79 Hefg) 0T 3R TRTIcHS HegH T Teh T Rerd A
AT & [—

C. geT-3lie v T3 Il G&-G1&T0T fehT 1T HHET 1 O e W oI5 &ar g

D. HEHaH f3atrse IV IR T FAET0T ¥et & foIT Ueh §oa 3 Ueh 6og
T 3dclihel
o e aTe faspedt 7 @ w8 3T AT -
1.A-l,B-Il, C-lll, DIV [Option ID = 4697]

2.A-Il, B-lll, C-IV, DI [Option ID = 4698]

3.A-lll,B-IV,C-I, D-ll [Option ID = 4699]
4.A-IV,B-l,C-Il, D-lll [Option ID = 4700]
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The dynamics of classroom interaction can be effectively managed through
HETT T 37T TohaT 1 aTfcreiierdT I fohdeh ATEIH & THTAT €T & Tafard fohdT ST dehdT 67
1. Verbosity/?l?c'\Té'aT

2. Language complexity/$TST STfeeldl
\/Z/nttrpreting perceived meanings/&Ad 312t Fr sarear HAT

4. Repetitive symbolism/GIgXTd Ycllehdlc -

12) Which of the following are myths about communication?
A. Good communicators are born, not made

B. Stage fright is not a communication apprehension

C. Communication skills have nothing to do with relationships
D. Communication has its own barriers —

E. Practice leads to the right habits of communication

Choose the correct answer from the options given below:

12) TR & TR & Aeafaf@a # a sl a Fus g2

A oS TR e Y §, et A
B < 5T Y 31721 78T & -

C. TAR 12Tl T RLAT T P AAT-GAT T8 §

D. TR & 3791 STequ &

E. 3730719 I T oY 37eal T 3R A STar g

oA few aTw feredt 7 & @Y 3T AT

1. A, B and C only/&deT A, B 3iR C [Option ID = 47051/
2. B, C and D only/ahddl B, C 31X D [Option ID = 4706]

3.C, D and E only/&de C, D 31X E [Option ID = 4707]

4. A, D and E only/3hadl A, D 3R E [Option ID = 4708]

‘\}S’{Given below are two statements
Statement |: One's perceptions and beliefs are the basis of generalisation in communication
Statement Il: Generalization of the environment develop through experiences.
In light of the above statements, choose the correct answer from the options given below

A3) A ar e Ruare §
e |: forell T RO 3R fIRART TR # ATATHIRIT HT TR &
Y |I: TATAROT hT HTHATATHIVT ITeT87T oh ATEIH H FAh i glar ¢ |
ST sl o 3Telleh H #A1d [GU ITT fashed! 7 & TET 3K HI ITA Y
1. Both Statement | and Statement Il are true/\/
2. Both Statement | and Statement |l are false/

3. 3. Statement | is true but Statement Il is false/
4. Statement | is false but Statement Il is true/
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14) According to Robbins et al, the sequence of barriers to effective communication in an organisation
is

A. Language
B. Emotions [ﬁﬁﬂ%\ §
WO

C. Selective perception
D. Information load / Q=
E. Filtering

U= T 376l & ITER, Teh HIS F FHT FUAR & ToIT STenn3if 1 A &
T ST '
& HrgTT
I TgATcHS TR —

\v
. Tk
. heeiar

Choose the correct answer from the options given below
1.A,B,D,EC 2.B,C,D,AE

2.3.D,A,E,C,B \:}//‘E,C,D, B, A

\f
%

AN

Match List | with List Il

List I List Il

Elements of Effective Communication  Description

A. Common frame of reference I. Communications with people of similar background

B. Congruence 1. Use of understandable language

C. Language relevance Ill. Messages of common interest between encoder and
decoder

D. Compatible environment IV. Compatibility between the receiver and the sender

Choose the correct answer from the options given below:

T 1 R 1 ary gafad wY

ek el

g TR faaror & dea

T. He S T AT T |. HHATT JSSHTH o ollail o §IY TR

&t gateraaar I} ST T HTST T FI4T

o s YT M Teerrsx 3R f3is & & AT o & Teer
D. T aTcITaRor v Rat 3R 9wk & o Feraar

oA few are fyemedt & @ w3 AT

1.A-lll, B-IV, C-I, D-Il [Option ID = 4717]
2.A-IV,B-Ill,C-Il,D-l[Option ID = 4718]

3.A-1,B-Il,C-Ill, D-IV [Option ID = 4719]
4. A-Il,B-Ill,C-IV, D-I [Option ID = 4720]

What number comes next in this sequence? \ ‘; @
= FH & 3 Pl A T I R 29 /ED ©
A

6,4,2.5,15,?
b

\/(1/1 [Option ID = 4721] ;
2.0.5/0.5 [Option ID = 4722] S ) =
3.-0.5/-0.5 [Option ID = 4723]
4.-1/-1 [Option ID = 4724]
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17) How tall is a tree that is 6 meters shorter than a wall that is seven times higher than the tree?

T8 U el ofdll § St 3H G1aR § 6 HIT BIET ¢ ST 95 @ |iel A1 1 82

1. 7 meters/7 X [Option ID = 4725] —=

2. 2 meters/2 HICT [Option ID = 4726]

3. 1.25 meters/1.25 eI [Option ID = 4727] \t @
4.1 meters/1 #HIeX [Option ID = 4728] }9/ “

\)K”
18) If the selling price of X 24 results in a discount of 20% on the list prlce V\Ghat selling prlce would
result in a 30% discount on list price? -

18) T T 24 1354 Hed TR T Hed T 20% 1 e Brerch &, A G e o) 30% ﬁ@t%mﬁ

farsht o T gram? ﬁ
1.21/21 [Option ID = 4729] o

2.27/27 [Option ID = 4730] \\~ 4
3.20/20 [Option ID = 4731] =
4.18/18 [Option ID = 4732] —\L

Egenbéoware WOQ§m(ﬂESlJ Onllne StUd@

Statement |: The number 89325324 is divisible by 66.
Statement Il: The set of natural numbers is also called the set of whole numbers.
In light of the above statements, choose the correct answer from the options given below

9) AT HUT RUITE

HUT |: TEAT 89325324 66 T [T ¢

YT |I: TTehel HEATHT & Feeurd i qoT HEIT3HT T Heoay 8 gl STl & |
IYRFd T F 3ok 7 1T QT 310 fshedl # A T8 39T T I HY

1. Both Statement | and Statement |l are true/
2. Both Statement | and Statement Il are false/
3. Statement | is true but Statement Il is false/
4. Statement | is false but Statement Il is true/

20) Which of the following statements are correct?

A. If A's speed is more than B's speed, then to travel the same distance, A will take more time than B
B. Two speeds, 1500 m/min and 90 km/hr are equal

C. By walking at a speed of 18 km/hr, the distance covered in 2 minutes and 30 seconds is 750 meters
Choose the correct answer from the options given below

20) Afaf@a A T Hla aTHFaT TET 82

A. e A T T B T 3T & TR &, Al THTA g1 T it 7 A i B § 3T G ofaam
B. &I 31fdY, 1500 #Hiex/fAete 3R 90 fhal/geT R &

C. 18 Tehefl/Eer hr 31T & <efel W 2 TAeTe 30 Wehs H 7 1 378 g 750 HeX . &

oA T are femedl & @ |1 3R g

1. A and B only/ahder A 3R B [Option ID = 4737]

2. B and C only/ade B 3R C [Option ID = 4738]

3.AandC onIy/WAH\TTC [Option ID =4739]

4. C only/&hdd C [Option ID = 4740]
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Match List | with List Il

List I List Il

A If 'A'is True |. 'E'is True; 'O' is True
B.If 'E'is True ll. 'O' is False; 'E' is False
C.If 'I'is False lll. 'A' is False; 'l' is False
D.If'O'is False IV. 'E'is False; 'l' is True

TER'T IR S TIE; 3N g

B. A 'E' AT 11. '3 3[BT &; '$' aTeicT &

C. I 3T III. 'T el ; I' SOT &

D. I '0' TR IV. 'S el & I' AT g

Choose the correct answer from the options given below:
1.A-IV,B-Il, C-lll, D - [Option ID = 4741]
2.A-lll,B-I,C-Il, D-IV[Option ID = 4742]
3.A-Il,B-lll,C-I,D-IV[Option ID = 4743]
4.A-1,B-Il,C-lll, D-IV [Option ID = 4744]

Match List | with List Il

List I List I

A. Ashrayasiddha I. Sound is eternal because it is visible

B. Svarupasiddha II. All real are momentory; sound is real; sound is momentory
C. Vyapyatvasiddha IlIl. All objects are eternal because they are knowable

D. Anupasamhari IV. Sky lotus is fragrant because it belongs to the class of lotus
Choose the correct answer from the options given below:

Geubll
Ay 1. eafa emead § Fife I8 TaAT &

N rgeaficy || @3l Rae a1t §; eafe aeafasw §; eafe arforen &
C. STIcatae Ill gefy a&U amead § Fifeh d Siletel AT &

D. 3TTIETFERY V. 3TThTLT ol I & FiTeh TG ool & a91 T &
oA few aTw feredt 7 & @EY 3T AT

1.A-lll,B-ll,C-IV, D-I[Option ID = 4745]

2.A-l,B-IV,C-l,D-lll [Option ID = 4746]

3.A-IV,B-I,C-Il, D-Ill [Option ID = 4747]
4.A-1,B-ll,C-Il,D-IV [Option ID = 4748]



